Tabelle C.

Fehler in # fiir die Linie § des Spectrums:

Concentration Afy =
0-9 0:35 Awy —1-60 Ave + 413 Ady + 046 Ady — %45 AD — 511 An, — 0:46 Any + 563 AN
0:8 0:42 Apy — 1:01 Av, + 2418 Ady + 0-53 Ady — 2:5% AD — 252 Any — 058 Ang + 3-11 AN
0-7 0:52 Avy — 0-81 Avy + 1°48 Ady + 0°63 Ady — 2:00 AD — 166 Ang — 0:66 Ang + 2°35 AN
0+6 0:66 Apy — 0:65 Avy + 1-18 Ady + 0-77 Ady — 1+79 AD — 121 Any — 0-77 Ang 4 2:03 AN
0-5 0+85 Apy — 0-59 Avp + 097 Ady + 0-97 Ady — 1-81 AD — 0:95 Any, — 095 Any + 1-95 AN
04 1:16 Avy — 0°56 Avy + 0-86 Ady + 1°28 Ady — 2:010 AD — 0+78 Any — 1:21 Ang + 2:04 AN
0-3 1:66 Ap, — 0-54 Apa 4 0-78 Ady - 1°83 Ady — 248 AD — 0-67 Any — 165 Any - 2-36 AN
0-2 2-T3 Avy — 0:53 Ave + 074 Ady + 2°0% Ad, — 3:84 AD — 0-57 Any — 2°82 An, -+ 314 AN
0-1 5:90 Agy — 0-54 Avo + 0°71 Ady + 6-39 Ady — 6-95 AD — 051 Any — 514 Ang + 5°68 AN
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